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think is correct, fill that circle in fronl of hat question with Marker or Pen ink in [he answer-book
Cutting or filling two or more circles will result in zero mark in thal question

Tyndall effect is shown by : R e/ el ¥ wBu Ji2[14
Chalk solution ‘,F.-L"_( v (D) Jelly L,t: (C) Paints J-':-'* (B)  Sugar solution J}'/;f' (A)

Identity the compound which has covalent bond : Pe- bl Ll & whf LU L s g J:il;f V1|2
HCE (D) Ca0 (C) KCt (B) NaCt (A)
One of the following is non-metal, identify it :  : :;.f.—.:u-‘kﬁ(;gﬂ ‘& J"'ut o ...g e L ot it |3
cr (D) 8r (C) Ca (B) Na (A)
How many number of moles are equivalent to 8 gm of co, . & 4l L Z E J )'l/ g8 L (O, |4
0.24 (D) 0.21 (C) 0.18 (B) 0.15 (A)
The most common example of corrosion is : T Je (k= — J uhf 5
Rusting of iron t0_E/& 7 (B) Chemical decay i K< (A)
Rustingoftin  t0_£3// (D) Rusting of aluminium t0_E3/E%1 (C)
The mass number of sodium is : :r_*_/'_;JL ¥ [£i-|B
31 (D) 27 (C) 23 (B) 19 (A)
The oxidation number of hydrogen in HC¥ s : e /-" SATTY Sk~ HCE|T
-2 (D) +2 (C) -1 (B) +1 (A)
The third period contains elements : t e P § il £ A5 o 2|8
2 (D) 8 (C) 18 (B) 32 (A)
The P subshell has : e Uﬁ-" ,_,E - P|9
Two orbitals  J5 1 (B) Oneorital  J4TL (A)
Four orbitals STk (D) Three ombitals %7€ (C)
The fastest diffuses gas is Pen L/{ dh x5 5 = |10
Chlorine ¢/ % (D) Fluorine ¢f# (C)  Helium (:“ (B) Hydrogen ¥} (A)
Single covalent bond formation involves electrons : e 2 A2 Lk 2w S| 11
8 (D) 6 (C) 4 (B) 2 (A)
Air is an example of solution : re Jo § o 1x|12

Solid in gas ¥4 U'; (B) Liquid in gas 8LL,I:J! (A)
Gas in liquid uf-rui' (‘IL (D) Gas in gas ;,Frq_;:gj-'-r (C)
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Time Allowed : 1.45 hours 21450 S
Maximum Marks : 48 ( PART-1 J3t =) 48 : A
10 2. Write short answers to any Five (5) questions : : o =42 /ﬂ L =Uir (5) ﬂ == Jf -2
(i) Define Avogadro's Number. & P S Akl )
(ii) What is meant by mole? fe sly kr = Jr (i)
(iii) Differentiate between shell and subshell. -._:.f vk O/ S UE'l 2l Lf (i)
(iv) Wiite electronic configuration of argon. (Ar =18) Ar=18).28 A 629§ ofiT )
(v) Write the trend of shielding effect in period and group.-&.n’ W L "'1""; s ia¥ o8y 42 (v)
(vi) Define electronegativity. 378 5485 i)
(vii) Why atomic number is a more fundamental ?.'c.u{.:.«:':‘; Grlkastic BUL VLB « AL (vii)
property than atomic mass?
(viil) Write names of elements of first period. et Lo pnaa £ s & (vii)
10 3. Write short answers to any Five (5) questions : : =42 /ﬂ Z =Ulr(5) 6; = Jf -3
(i) Why do atoms react? W I .'r..rlu'.r UL L AT A ()
(i) Define chemical bond. E 7§ K )
(iii) Write name of different types of chemical bond. e Lo B s S G
(iv) Whatis diffusion? Explain with an example. ool S s JE S e Vi (i)

(v) Define standard atmospheric pressure. S ' oy £ U1 - F § 2y SEA L ()
What are its units?

(vi) Whatis difference between dilute solutionand S~ J/ ' 2 g }f“’ M el (i)

concentrated solution?

(vil) Define unsaturated solution. & 8 T g i)
(viii) Give an example for "Gas in Solid" solufion. LE e LS Lo o (i)
10 4. Write short answers to any FIVE (5) questions : : éﬁk[ﬂjﬁﬁaﬂr (5) é; = Jf -4

23
2,2
5

4
14

4

(i) Write difference between spontaneous and -_:{ gf- g/ Ol L /-5{ I J"l: b J”' = ()
non-spontanecus reactions.

(ii) Define non-electrolytes and give example. &= Je o _é- - /'- J ﬁ:}g gt (i)
(iii) Define corrosion. _ 7§ un/ i)
(iv) What do you mean by galvanizing? Wite its advantages. <713 1 Sen e Ft (i)
(V) Wiite two physical properties of metals. LGl End & W
(vi) What is the trend of electropositivity in group? ..5’:-.- ;f- G} "'E .?-.-)’ ¥ f,f_}:}g:}gl (vi)
(vil) Why platinum is used for jewellery making? S bl U JS1 U £ e L kA2 (vil
(viii) Write reaction of fluorine with water. 7 TG A L Q¥ P (i)
( PART-Il 5 =)
Note : Attempt any TWO questions, f -£ =R L ey e Jf : &d

5. (a) Calculate the number of moles and number of molecules -é{:"’:lﬂd’.ﬁgpluffr‘gﬁékr‘f 6 () -5
present in 8 grams of water. " . .
(b) Write any two results of Ruther Ford's o é[i'msfu" E-'J:.:.JJZ &= /fd:dik...f it ()
experiment and two defects of Ruther Ford's atomic model.
6. (a) Whatis an ionic bond?.ef_f..-;l.isd‘y L2 M Ef Twy;:ﬁu{uﬁﬂ#ir el Ve 2L EFT () 6
Discuss the formation of ionic bond between sodium and chlorine atom. 2 ,
(b) Differentiate between crystalline and amorphous solids. ey 5 IJJM(L-’:UMJ‘H»U S (L)
7. (a) What is galvanic cell? Write four -£ &);g.urzl.ét#_ﬂﬁ,s‘.ﬁu,}? I e Lf F £ L!':r () -7
differences between electrolytic and galvanic cell. X )
(b) Define solublility. Describe effect of temperature ey uy}l{(j"?rvﬁ/;’ ?r‘_.:!f,l!:..d'&":’r ()
on solubility.
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L ! e e ufu"}'ficé—’&l’&\)"’;{lé{d'ﬁ _u_:éé_,D s CecB« A_—,[Jiﬁ;ﬁl?édlyﬁ s

-!’;:,,;}.5.'.7, ',-?w':ig,’:.;ur’JL/Q lak | i..//;fu:}l: wl e L -&?‘J/.:_Q;L):L:Gﬂ:}iﬁ"fdﬁ’
Note * Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

The compound that is a heteroatomic molecule : C e J!."a LS 1 ‘-'g 7 % ﬂ.,f 1-1
H, (D) 0; (C) H,0, (B) Cl, (A)
The number of subshells in N shell is - le s b( x — J'? N{2
Four ,& (D) Three £ (C) Two » (B) One LI (A)
The element that has highest electronegativity : re L4 Yy &;2‘5}? Tl e |3
lodine ¢/ 3¢ T (D) Fluorine ¢/ 2P (C) Bromine ¢~12 (B) Chlorine ¢/ »K (A)
A bond formed between two non-metals is - ten &L Ul d’- e £ A gt |4
Coordinate covalent ksl 3,75 (B) Covalent oksy (A)
Metallic A (D) lonic  £¥T (C)
Identify the compound which is not soluble in water - v u.‘.'f 7 - dL ifl;f Lo = ¥ J: it |5
Celg (D) NaCt  (c) KBr (B) MgCt, (A)
The number of moles which are equivalent to 8 grams of CO,: S L /"l)’ 8 L Co, |6
0.24 (D) 0.21 (C) 0.18 (B) 0.15 (A)
Vapour pressure of water in mmHg at 80 °Cjs - P& b S mmHg 2, £ ¥ dL ¢ 80°C |7
355.1 (D) - 149.4 (C) 55.3 (B) 17.5 (A)
Which one of the following is heterogeneous mixture : te [: u:"i',/*_ﬁ [ u,f & L LJ_'-‘Z‘/» 8
Alcohol in water J’;U/deg (B) Salt solution i B (A)
Sugar solution J}’Kj,ﬁ (D) Milk of magnesia !._"‘«.:"ﬁ..'_i it (©)
Molarity is the number of moles of solute dissolved in: : s Gf d/ S 2 < I oy J I L osly & A9
1dm>of solution % 1 dm® LJ}’ (B) One kg of solution u’fri);(g&‘fyb (A)
1dm® of solvent & 1dm® Loxsl (D) 100 g of solvent u’.frlf 100L ez JL (C)
In the redox reaction between Zn and :c— LfeLIf 3T Tmd UJJ(LQJU.VAL,?/JJ:K:JJ_?}»L_G 10
HCI, the oxidizing agent is :
Ct (D) H* (C) H, (B) Zn (A)
Oxidation number of all elements in the free state is : f /" gﬁfz_/l' ¥ oatiaaly rl? S T (11
+3 (D) -1 (C) Zero #* (B) +1 (A)
Which one of the following non-metal is lustrous : P Juﬁ, J’?-' O] % uf & b J_ 3|12
Sulphur A~ (D) Phosphorus _#6 (C) Carbon (%8 (B) lodine /3¢ T (A)
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10 2. Write short answers to any Five (5) questions: ..-pz /‘5' L ooy 5 SL = J, 2
(1) Defire ndustrai chemistry and anatytical chemestry Sl iE B, SAEL F0 ()

() Expizn why hydrogen and oxygen -4;.‘Z..:.J.-:- f_g.:g.;:,!.}?;‘:':; £ petinals _-:;'f:’-' slo™u 24 (i)
ane consicered as elements, whereas waler 35 3 compound?
(W) Wirte two propertes of neutron -Z’ .'..:J.-‘:: » _,-’ /€ ()
() How many racmum eectrons c2n be “,_?ér'}',-'-;‘;gn::i:.u:.',ﬁ,‘: K.LLM.N (wv)
accommodated in K. L, M, N shelis?
(V) What s the trend of ion2ation energy in penod and a"'rﬁ ‘e UK e o EN L AN EAEIET (V)
(vi) Defne eiectronegatvity. :_r...r;....ﬂ"- z xfa/* -f' ,_._,"2__:,.-‘5“‘__::...5}-.:’.,'{_ s?‘;-::' (w1)
Wrich one halogen has highest electronegativity value?
(vii) Write names of elements of first penod. =l odeald £ 35 &2 (vi)
(Viil) Virte down e name of slements of group-!. (any twoj (s )-;e:'.:_ oelieadal JOLL | s ’(\““)

10 3. Write short answers to any Five (5) questions:  : 2 =yi2 A~ Lew ®) 5: edf 3
(1) Define duplet and octet ruie __;‘_:-. ..gf J ,.-.t-—-",!'- a3 (i)
(i) Why ice fiozts over water? - d,:' \,‘.-:/ Z .}'; < (i)

(i) Define metalic bond. -5‘_'-: .....g/‘- _:’ 2 b (i)
(iv) What is meant by standard stmospheric pressur=? e sy e fy TR L (i)
(v) Define dynamic equiibrium. -E F ALY (v)
(iv) Vinztis dffusion? Explain with an example. -é a2l S o J& ...:" < t_;' Jigt (w)
(Vi) How molar solution is prepared? e by & S A (i)
(viil) Why are colicids quit stable? 8 L ud 730 B U sl (vili)

10 4. Write short answers to any Five (5) questions: L - =42 /""’ > ..-uir (5) &L . J/ -4
(i) Define oxidation number. ..cE w2 d -..u-‘ T (i)
(ii) What is meznt by electrolysis? e /,;CI (ii)
(iii) What are weak electrolytes? Give at least one exampie. -Z,:vw...."" e ‘e /w;.,_, '!f"'.d/ (i)
(W) Define rusting. Write its mportant condtion. S/ 52 4§ 1 £ 37 & Z & w)
(v) What do you mean by 22 carat gold? K pf22 (v)

(vi) Write down chemical reaction of Mg with O, and N, B 'J,.,w@’w._ N,.90, {,,_,,f__ (vi)
(vii) What is the trend of electropositivity in a group and a period?°< Vo i-,(\_{z,;:/‘_‘ ,_m ...-1/...»' (vii)

(viii) Write any two physical characteristics of metals. & ..-..l_.n"; .,f#b »n \_,: U { » (i)
( PART-1II o ,.-7)
Note : Attempt any TWO questions. ez letrpve §f o)
5 5. (a) List five differences between compound and mixture. -é.ff,/’; V;.c.. /"'s’;m (") .5
4 (b) Describe four properties of canal rays. .':‘_r~ o ....y-“’.' /v S 74 u.f- ()
5 6. (a) Descrbe types of covalent bonds. _5 =i .}’ o § ”5 Yy (...r) -6
4

(b) Define evaporation Explain factors -é‘.;.?u'u ‘.‘L,U/:’,-Jw‘f( N e sirie Sy (L)
affecting evaporation -y ;
'é‘VZJ/JJI”'Vé'uUJ (‘Lrbv;vd. (NaOH) ¥ f.‘aﬁ-{:f.«'é..o o8] Cadil) -7

41 7 (a) How can we prepare sodium hydroxide (NaOH) on commercial scale? Discuss s chemstry
along with diagram

22 (D) What is saturated solution and how it is prepared? © < Fe ¥ .g d - f—-'u Y
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